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QUESTION 1

What are two protocols used by NorthStar Controller to discover the network topology? (Choose two) 

A. SNMP 

B. OSPF-TE 

C. NETCONF 

D. BGP-LS 

Correct Answer: BD 

 

QUESTION 2

What is a primary difference between NFV and VNF? 

A. A VNF defines the network underlay tunnel methodology while NFV is firewall that inspects traffic in the overlay
network. 

B. NFV is the framework that describes how a virtual function should operate while VNF is the virtual function itself 

C. A VNF operates on a bare metal server while NFV operates on a switch 

D. NFV identifies the host on which the VNF operates. 

Correct Answer: B 

 

QUESTION 3

You are the administrator of an MPLS WAN. Intermittent WAN hardware failures are causing customer traffic to route
over newly computed forwarding paths that do not satisfy service level agreements. Which Juniper Networks solution
would be used to analyze this problem? 

A. Network Director 

B. AppFormix 

C. NorthStar Planner 

D. Contrail 

Correct Answer: C 

 

QUESTION 4

You are deploying a Layer 2 underlay network with 2,000 devices and hosts. Which two statements are correct? 
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A. Network routing tables can become very large and unmanageable 

B. RPF is used for loop prevention 

C. The MAC tables can become very large and unmanageable 

D. RSTP can be used for loop prevention 

Correct Answer: CD 

 

QUESTION 5

Which OpenStack component is responsible for user authentication and authorization? 

A. Glance 

B. Nova 

C. Keystone 

D. Neutron 

Correct Answer: C 
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